
Service Parts Section
EP8ACP and EP12ACP Series

EP8ACP AND EP12ACP VENTILATION BLOWERS
FORM GOM25081401 VERSION 1.0 6

EP8ACP
Electric

EP12ACP
Electric



Assembly
EP8ACP Blower

EP8ACP AND EP12ACP VENTILATION BLOWERS
FORM GOM25081401 VERSION 1.0 7



Reference
Number

PART
NUMBER

DESCRIPTION QTY

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20

EP8ACP-0010
EP8ACP-0040
EP8ACP-0030
EP8ACP-0020
EP8ACP-0050
EP8ACP-0140

14083500
17030001

EP8ACP-0150
EP8ACP-0110

45030400
EP8ACP-0080

45040500
EP8ACP-0090
EP8ACP-0070
EP8ACP-0120
EP8ACP-0060
WIRE NUT O
EP8ACP-0100
GECD-5040

Housing, Blower
Motor, AC

Fan, 8”
Grille, Plastic
Hub, center

Screw, Self Tap, #7 x 5/8”, Pan Head
capscrew, Hex Head, 5mm x 35mm

Washer, Flat, #10
Nut, Nylock, 8mm

Foot, Rubber
Rivet, Pop, (3/16” x 1/2”) Aluminum

Cord, Power
Rivet, Pop, (1.4” x 5/8”) Aluminum

Plate, Switch
Switch, Rocker, ON/OFF
Strain Relief (Complete)

Capacitor
Wire Nut, Orange

Grommet
Decal, General

1
1
1
2
1
10
3
3
3
4
4
1
10
1
1
1
1
3
1
2

Assembly
EP8ACP Blower

EP8ACP AND EP12ACP VENTILATION BLOWERS
FORM GOM25081401 VERSION 1.0 8



Assembly
EP12ACP Blower

EP8ACP AND EP12ACP VENTILATION BLOWERS
FORM GOM25081401 VERSION 1.0 9



Reference
Number

PART
NUMBER

DESCRIPTION QTY

1
2
3
4
5
6
7
8
9
10
11
12
13
14
15
16
17
18
19
20
21

EP12ACP-0010
EP12ACP-0040
EP12ACP-0030
EP12ACP-0020
EP12ACP-0050
EP12ACP-0140

14083500
17030001

EP12ACP-0150
EP12ACP-0110

45030400
EP12ACP-0080

45040500
EP12ACP-0090
EP12ACP-0070
EP12ACP-0120
EP12ACP-0060
WIRE NUT O

EP12ACP-0100
GECD-5040

EP12ACP-0050

Housing, Blower
Motor, AC
Fan, 12”

Grille, Plastic
Hub, center

Screw, Self Tap, #7 x 5/8”, Pan Head
capscrew, Hex Head, 5mm x 35mm

Washer, Flat, #10
Nut, Nylock, 8mm

Foot, Rubber
Rivet, Pop, (3/16” x 1/2”) Aluminum

Cord, Power
Rivet, Pop, (1.4” x 5/8”) Aluminum

Plate, Switch
Switch, Rocker, ON/OFF
Strain Relief (Complete)

Capacitor
Wire Nut, Orange

Grommet
Decal, General

Capscrew, Truss Headd, 5mm x 10mm

1
1
1
2
1
4
3
9
3
4
4
1
10
1
1
1
1
4
1
2
6

Assembly
EP12ACP Blower

EP8ACP AND EP12ACP VENTILATION BLOWERS
FORM GOM25081401 VERSION 1.0 10


